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definition again because eventually I want to try to get to how
this works all together.

SENATOR SCHIMEK: Time, Senator Beutler. Your light is next,
Senator Beutler.

SENATOR BEUTLER: Senator Bromm, thank you for bearing with me,
but it is a complicated definition, I think you would agree.
*Six or more unrelated, full-time employees, whether in one or
more locations, on each working day during any thirteen-week
period, whether or not such weeks are consecutive." So do they
all have to be working, Senator, at the same time? That is, do
all six of them have to be working at the same time, 1like on
April or December...on June 30, if I have six workers who are
unrelated and full-time?

SPEAKER BROMM: The 1intent, Senator Beutler, and what was
discussed when the language was inserted with the committee was
that, no, that does not mean they have to be working at the same
time. You look at the entire calendar year and if you have six
or more unrelated full-time employees who work during any...at
different times during any 13-week period, and it doesn't have
to be consecutive weeks, then you come under the act. So I
might work four weeks in the spring, I might work four weeks at
some point in the summer and five weeks in the fall, 3and
generally work at least five days out of a week and I would be
considered one of those six employees.

SENATOR BEUTLER: Okay. But upon any week I work just four
days, that week doesn't count. Would that be right?

SPEAKER BROMM: I'm going to need to maybe talk with committee
counsel a little bit so I don't misstate the record here, but I
think what the committee's and my intent 1is, that if you
work...if you work those four days and then you continue at a
different time and you work a number of days again, you
accumulate those days and then you cumulative have a 13-week
period where you have six or more people, not necessarily at the
same time, you're going to be under the act.

SENATOR BEUTLER: Okay. So if one person works 65 days during a
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